SUN2000-(9KTL, 10KTL, 11.4KTL)-USLO
Quick Guide

Issue: 04
Part Number: 31509358
Date: 2019-08-16

S

HUAWEI TECHNOLOGIES CO., LTD. HUAWEI



! The information in this document is subject to change without notice. Every effort has been

made in the preparation of this document to ensure the accuracy of its contents, but all
statements, information, and recommendations in this document do not constitute a warranty of

any kind, express or implied.

A Only qualified and trained electrical technicians are allowed to operate the device. Operation
personnel should understand the composition and working principles of the grid-tied PV power

system and local regulations.

A Before installing the device, read the user manual carefully to become familiar with product
information and safety precautions. Huawei shall not be liable for any consequences caused by
the violation of the storage, transportation, installation, and operation regulations specified in
this document and the user manual.

A Use insulated tools when installing the device. For your safety, wear proper personal protective

equipment (PPE).

Overview

(1) Host panel

(3) Maintenance compartment door
(5) Heat sink

(7) Antenna port (ANT)

(9) Ventilation valve

(11) Signal cable waterproofing bolt (COM, 3/4 in.) (12)

1] 7 ol I
f‘d‘ |©-mr R 9
8 { )
> . . O .
= A F |
@ Q) Q O QpF
TUTTT e e T
10 11 12 13 14 |HO5WO00008

(2) LED indicators

(4) Mounting bracket

(6) DC switch (DC SWITCH)

(8) Battery cable waterproofing bolt (BAT, 3/4 in.)
(10) Backup enable button (MANUAL STAND-
ALONE)

PV input power cable waterproofing bolt (PV,
3/4in.)

(13) AC output power cable waterproofing bolt for (14) AC output power cable waterproofing bolt for

critical load (BACKUP, 1in.)

home load (AC GRID,1in.)

Copyright © Huawei Technologies Co., Ltd. 2019. All

rights reserved.



2 Installation Requirements

> 300 mm (11.81in.)

<1

Dimensions

(7.87 in, )
‘-._M___

in.)

197.1 mm (7.76 in.)  50.8 mm (2.00
78es5mm & |- | |
(3.09in.) y

8mm A
(0.311in.)

/ 31 mm
3 (1.22in.)

405 mm
(15.94 in.)

87 mm
(3.431in.)
48.5 mm

- (1.910n)

i

=400 mm (15.75in.)
IHO5H00021

160 mm (6.30 in.)

172.45 mm (6.79 in.)
IHO5W00010

3 System Installation

[EEN installing the SUN2000
L[] noTE

A Select tightening screws suitable for the load-bearing structure. This section introduces how to
install the SUN2000 on a wall. For details about the support-mounted installation, see the user

manual.

A Prepareanantit heft | ock suitable for the |l ock hole

d



Load- Frame post Brick wall/Fiber-  |Plywood Marking-off Template
Bearing (recommended) [cement composite 1
Structure panel _ﬁj—/w/_ 6
C
Tightening |M6 tapping M6 expansion bolt |M6 expansion anchor “‘}" 5
Screw Type [screw screw 2 — tTop
Screw
Quantity 4 PCS 4 PCS 4 PCS .
e e |——> [T |H)—C=>
Appearance
Hole
Combination |, , 5 4 3,456 3,4,5,6
in Marking-
off Template
1. Install the mounting bracket (for example, on a frame post). ¢ 4
Frame post T-Bottom
Wall panel Bottom alignment line for the L 3

mounting bracket (top) S —r

I
|

IHO5H00037
=
- - :
; @3 mm -
e | (0.12in.)

F-Bottom
= LUf LUy
IHO5H00017
2. Install the SUN2000 on the 3. Tighten the hex socket 4. (Optional) Install an anti-
mounting bracket. screws. theft lock.

IHO5H00020




Installing the SIM Card

[
X

T T To

NOTICE

Do not open the host panel of the SUN2000.

Before opening the SUN2000 maintenance compartment door, turn off the downstream AC
output switch and the bottom DC switch.

Do not open the maintenance compartment door during rainfall or snowfall. If you must, take
protective measures to prevent rain or snow from entering the maintenance compartment.
Do not leave unused screws in the maintenance compartment.

NOTE

If the 4G function is configured, you need to prepare a standard SIM card size: 25 mm x 15 mm
(0.98 in. x 0.59 in.). After being installed with the SIM card and being powered on, the 4G module
can access the 4G network without being commissioned. Do not remove the 4G module when
installing the SIM card.

Install the SIM card in the direction shown on the arrow on the slot.
To install the SIM card, press it in place until it locks.
To remove the SIM card, push it inward and then let go to eject it.

IHO5H00031

4 Electrical Connections

NOTICE

A Connect cables in accordance with local installation laws and regulations.
A Ensure that power is off before connecting cables.
Preparing Cables
No. [Cable Type Conductor Cross-Sectional Area
1 AC AC output |A Use cables that can withstand 90 |A L1, N, L2: 6i 4 AWG
output | power °C (194 °F) or 105°C (221 °F). (SUN2000-9KTL/10KTL-USLO)/
power |cable for  |A If the output mode is set to L1/L2/N,| 4 AWG(SUN2000-11.4KTL)
cable |home load use four single-core outdoor copper(A pPE: 6 AWG

cables (L1, N, L2, PE).

A If the output mode is set to L1/L.2,
use three single-core outdoor
copper cables (L1, L2, PE).

ACoutput |A Use cables that can withstand 90°C|10i 4 AWG
power (194 °F) or 105°C (221 °F).
cable for |A Two single-core outdoor copper

critical load cables (L1, L2)




No. |Cable Type Conductor Cross-
Sectional Area
2 PV input power cable A PV cable that meets the 600 V standard | 10i 8 AWG
A Use cables that can withstand 90 °C (194
°F) or 105£ C (221 °F).
A Single-core outdoor copper cable
(Optional) Ground A Use cables that can withstand 90 °C (194 | 5 AWG
cable at the PV side °F) or 105£ C (221 °F).
(GND) A Single-core outdoor copper cable
3 (Optional) Battery A PV cable that meets the 600 V standard |12i 8 AWG
cable A Use cables that can withstand 90 °C
(194 °F) or 105£ C (221 °F).
A Single-core outdoor copper cable
4 (Optional) Signal cable | Multi-paired and individually foil-shielded 24116 AWG
cable that complies with UL2919, CM/CMG
(NEC type), or CMH (CSA type)

Preparing the Threading Tube

The specifications of the tubes should comply with those of the waterproofing bolts. For example,
for a 3/4 in. waterproofing bolt, a 3/4 in. tube is recommended. The tube appearance shown in the
following figure is for reference only. The actual tube is the standard.

[ Threading tube ]

[ Cable hole diameter at the bottom ]

Installing the AC Output Power Cable

NOTICE

A Ensure that the exposed core wire is completely inserted into the cable hole and connected
securely. Failing to do so may cause the SUN2000 to malfunction or be damaged.

A If the AC output power cable bears pulling force because the inverter is not installed securely,
ensure that the last cable that bears the force is the PE cable.

N 4 ™\
Nut Conduit ©27 mm
i ($1.06 in.) BAT
Fitting
®33.7 mm
®27 mm (®1.33in))
comM (d1.06in.)BY BACKUP AC GRD
@©33.7 mm
(®1.331in )
<D27 mm
®©1.06 in.
. Y, \_ ( in.) y
IHO5H00023




1. Connect the AC output power cable for home load (L1/L2/N is used as an example here).

L1/L2/N

= ﬁé\z

[*][®) O?go ]

o ololo o0 oo

o Lil NJ[L2]
=—p) : ‘ 5
= [ACGRID] — [ACGRID

JC @ﬁ// - %Oﬁ )

IH05150012



